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4 Tiiesd. !(•"') ^^- •':'n •!' Aero taken, 1S40.

Wed. jriattlo of liilOM-'iiann, 1^');.

Tluir. I'riiurss Cliarlottc cIuhI, 1S17.

Moon lowest,

g Gr. Eloiijr. West.

.Jupiter South, 0.8 Ev.

Venus in Scorpio.

Venus South, l.P.O Ev.

Moon in Sairittarius.
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Friday :l'ii'^t N'tnvspapcr at Oxfoi'il, lO().3.'Moon near Neptune.

Satur. 'J) Milton diod, liiT t.

SUND.!--J''/i Sinvhvj afUr Trinil;/.

10 Mond. T'lartiii l.iitliiT born, lls.i.

11 • Tuesd. '•'ttlo of Willianislitir^, lsi:j.

12
I

Wed. Montreal taken, 1775.

lo Tliur. Curran died. 1S17.

14 Friday •ourco of .Nilu discov. 1770.

15 Satur. Urtat Tiro in Now York, 18j.3.

10 SUND.r-ifWt Sum/a;/ after Trinil;/.

17
i
Mond. nlli) Keubous linrn, ]r)77.

18 Tuesd. Cardinal Woolsoy died, )'::V).
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1! ittlo of Navarino, 1S27.

20 Thur. jCapo doubled, 14'J7.
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Friday il'nnass noyalborn, IS-W.

Satvir.
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24 Mond.
25 Tuesd.
26 Wed.
27 Thur.

Moon near Jupiter.

Saturn in Gemini.

;Jiipiter South, 8.30 Ev.

Moon perigee.

Uranus near Moon.
Venus South, 1.51 Eve.

Uranus 180° E. of Sun.

Moon near Saturn.

IGtli. Moon liiu'hest.

'.Jupiter South, 8.11 Ev.

IVenus Soutii, 1.58 Ev.

jMoon near Ilegulus.

j.Jupiter in Pisces.

Sun enters Scorpio,

j

Venus fartliest South.

I

Moon in apogee.

Jupiter Stationary
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I'ltoii. 77.—If a cy-

4;cloid, -whose height is 5

3] feet, revolve aVjuut its

o. base, Avhat surface and
3i solidity Avill it ireiicrate '.'

2! Puon. 78.—What is

2 the solidity and surface

2! of a wedge, whose base

1 is 5 feet long and 1 foot
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Itroad, the lieight being

2 feet and length of edge

3 feet ?

I'Hon. 70.—If the ruler

20 50

1 20 50

•fillotson died, 1(594.

2'th Siimlai/ a/Or Trinit'j.

John Knox died, Vh'1.

I'.ritl-U evacuated N.York, 1783. 'Jupiter South, 7.30 Ev
Dr. Watts died, 174S. iMoon near Mercury.
|Frouten.acdied at QuiOjec, 1098. INcptUUC Stationar3\

28
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Friday jiioldsniith born, 1713. Mercury in Des. node.
20 Satur. \}\Q) ^. Amln-MS Day. Moon farthest South
30

I
S UN D.!'i'''''f"<*'"''".'/. Moon near Venus.

of Problem 85 be saweil

in two obliquely cross-

Avise, making the height

1 20 50! of the smallest part

1 20 58 inches, and ni)thnig;

1 20 58' what will l)e the surface

1 20 58; and solidity of each part,

1 20 571 and the distance around
1 20 57: the sawed j)art ?

1 20 571 Pror. 80.—If the ruler

1 20 5ol of Problem 85 be cut by a

1 20 501 plane through its side

1 20 5(i|and end, making tlie

1 20 50; height of the snn\llc;'

1 20 55' body six inches, and its

1 20 55' base h an inch wide, wdiat

1 20 55, will be the surface and
1 20 44; solidity of each part ?
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ANSAVERS T.0 THE EXAMPLES FOR 1855.

2
Ex 31.—Let 100=a, 05=i, 55 = c, then one line^ -„- |/(2i2-]-2c2—a'-")=22. 3000707 ;

another

9 o

= t- /(2a2-|-2Z-^—c^)=53.15 ; and the other-= --^Q2a'-\-2c'—L-)=V.).2U. Ans.

Ex. 35.—Let 50=(r, 1 500^.1 i, base=.r, then x^~\^},a:c-''=P-~2a ; from which .i=30, and perp.

=80. Ans.

AVill some one give us a simpler formula ?

Ex. 30.—Let 100=a, 100==i, c=50, then the base=((//y— c'-')(rt+ ^-)--(ai-;-c-)=131 l-07th. Ans.
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012= -2028 of the

Ex. 38.-

Ex. 30.-

Ex. 40.

Ex. 37.—Let 100=ff, diameter
surface. Ans.

Lot 05='r, 08=6, 100=r, j:=base
2rt*c^—tV)=115.09510. Ans.

•Let 100=a2,then one logoff/ ( |/(2 ,/5—2))=1 2 '5302 ; the other=tf

,

=15.0408. Ans.

-Let 2=a, 3=&, 5=r, then the pcrpeudlcular=(« J-i-!-r)=r--10

;

(„4.6_^c)=l 1.547. Ans.

Area=J/3 (rt-l-6+c)-=i(100/''')=57.735. Ans.

Ex. 41.-35.80737, 47.40728, and 50.41113. Ans.

Nole.—AVill some one find a set of formultv; for this ?

Ex. 42.—One leg=2/(4a2_J'i)-:-^15, the otlier=2/(4i-'—a2)-^-^/15, and hypothenust

==|/(5a2+56^)

r, then he can sec a-i-2{r-\-a)=2o-

Then x=2c/'^i/c-=-j/(2«Vy-'c'-'-| 2(.'-i-'c^-,

the side=^nj,;J
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Ex. 43.—Let (7=18, i=17. and VI

the other side=?Ji/(a-—6-)-T-i/(m2—n-)=25. Ans
[114]

n ; then one side=:wi| '(«-—?/-)-f-j ''("''"— ''"')-
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